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- 1.5 m.m. hook

- Cotton thread.

- 5 m.m safety eyes
- Stitch marker.

- Yellow: body.

- Brown: shoes.

- Cd: chain

- Rnd: round

- R: row

- Sc: single crochet

- Slst: slip stitch

- Hde: half double crochet.

- Dc: double crochet.

- Lead: head, arms and ears.

Mol tol

- Fiber filling.
- Embroidery threads.

- Scissors.

Color

- Garnet: pants
- Pink: part of the ears
- Black: nose

- R: row

- Sts: stitches

- Ine: increase

- Dec: decrease

- (*): times

- Blo: back loops only.

- Flo: Front loops only
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- Gancho de 2.0 mm - Relleno de fibra.
- Hilo de algodon. - Hilos de bordar.
- Ojos de seguridad de 5 mm. - Tijeras.

- Marcador de puntadas.

Coloves

- Plomo: cabeza, brazos y orejas. - Granate: pantalén

- Amarillo: cuerpo. - Rosado: parte de las orejas

- Marrén: zapatos. - Negro: nariz

Abrervioifurmy

- Cad: cadenas - P: puntos

- Rnd: ronda - Aum: aumentos

- F: fila - Dism: disminucién

- Pb: punto bajo - (*): veces

- Pe: punto enano o punto deslizado - Blo: por atras de la cadena.

- Mpa: medio punto alto. - Flo: por delante de la cadena

- Pa: punto alto
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Empiece a trabajar con el ec

- Rnd1: anillo magico de 8p

- Rnd2: (8aum)= 16pb

- Rnd3: (2aum- 2pb)*4= 24pb

- Rnd4: Tpb, 2aum, (4pb- 2aum)*3, 3pb= 32pb
- Rnd5: 2pb, 2aum, (6pb- 2aum)*3, 4pb= 40pb
- Rndé: 3pb, 2aum, (8pb- 2aum)*3, Spb= 48pb

- Rnd7: 4pb, 2aum, (10pb- 2aum)*3, 6pb= 56pb
- Rnd8: 5pb, 2aum, (12pb- 2aum)*3, 7pb= 64pb
- Rnd9: 6pb, 2aum, (14pb- 2aum)*3, 8pb= 72pb
- Rnd10- 24: (72pb) 15 rondas

- Colocar los ojos entre las rondas 15 y 16 con
una separacion de 9pb.

- Rnd25: 8pb, 2dism, (14pb- 2dism)*3, 6pb= 64pb

- Rnd26: 7pb, 2dism, (12pb- 2dism)*3, Spb= 56pb

- Rnd27: 6pb, 2dism, (10pb- 2dism)*3, 4pb= 48pb

- Rnd28: 5pb, 2dism, (8pb- 2dism)*3, 3pb= 40pb
- Rnd29: 4pb, 2dism, (6pb- 2dism)*3, 2pb= 32pb
- Rnd30: 3pb, 2dism,

Start working with lead:

- Rndt: start 8 sc in a magic ring

- Rnd2: (8inc)= 16sc

- Rnd3: (2inc- 2sc)*4= 24sc

-Rnd4: Isc, 2inc, (4sc- 2inc)*3, 3sc= 32sc

- Rnd5: 2sc, 2inc, (6sc- 2inc)*3, 4sc= 40sc

-Rndé: 3sc, 2inc, (8se- 2inc)*3, S5sc= 48sc

-Rnd7: 4sc, 2inc, (10sc- 2inc)*3, &sc= 56sc

- RndB: 5sc, 2inc, (12sc- 2inc)*3, 7sc= 64sc

- Rnd9: 6sc, 2inc, (14sc- 2inc)*3, 8sc= 72sc

- Rnd10- 24: (72sc) 15 rounds

- Place the safety eyes between rounds 15 and
16 with a separation of Psc.

- Rnd25: 8sc, 2dec, (4sc- 2dec)*3, 6sc= 64sc
-Rnd26: 7sc, 2dec, (12sc- 2dec)*3, Ssc= 56sc
-Rnd27: 6sc, 2dec, (10sc- 2dec)*3, 4sc= 48sc

- Rnd28: 5sc, 2dec, (8sc- 2dec)*3, 3sc= 40sc
-Rnd29: 4sc, 2dec, (6sc- 2dec)*3, 2sc= 32sc
- Rnd30: 3sc, 2dec, (4sc- 2dec)*3, Isc= 24sc




I!ndl 4sc, 3sc in the las
of the chain we will 3sc, 3sc foge'rher in fhe last
chain= 13sc
4 - Rnd2: 4sc, 3inc, 3sc, 3inc= 19s¢
- Rnd3: ésc, 3inc, 7sc, 3inc= 25sc
- Rnd4: Blo (25sc)
- Rnd5- 6: (25sc) 2 rounds
- Rnd7: 4sc, 6dec, Psc= 19sc
- RndB8: 3sc, 4dec, 8sc= 15s¢c
- Change to maroon color
- Rnd9-15: (15sc) 7 rounds
- We will do the second leg and work until round 15
and do 2sc.

Start working with the lead
~Rndt: start 6scina

sc, 2sc= 34sc
*15sc, 2|nc, 15sc, 2inc= 38sc

- Rnd18: 13sc, (2sc- linc)*2, 19sc= 40sc
- Rnd19: (4sc- linc)*8= 48sc

- Rnd20- 21: (48sc) 2 rounds

Change to yellow color

- Rnd22- 23: (48sc) 2 rounds

- Rnd24: (4sc- Idec)*8= 40sc

- Rnd25- 28: (40sc) 4 rounds

- Rnd29: (3sc- Idec)*8= 32sc

- Rnd30- 33: (32sc) 4 rounds

- Rnd34: (2sc- 1dec)*8= 24sc

- Rnd35: (Isc- 1dec)*8= 16sc

- Close and finish yarn and leave yarn
long to sew.

- Rnd11-12: (10sc) 2 rounds

hange to yellow color
5: (10sc) 3 rounds
fasten off and leave thread




ain

v : laum, 2pb, 4pb e ¥ den - Rndt: linc, 2sc, 4sc in the last chain, on the other

el ofro lado hacer 2pb, laum= 12pb side do 2sc, linc=12sc
- Rnd2: 2aum, 2pb, 4aum, 2pb, 2aum= 20pb - Rnd2: 2inc, 2sc, 4inc, 2s¢, 2inc= 20sc

Trabajar con el color plomo Working with lead color

- Rndi: 6pb en un anillo magico. -Rndt: start 6 sc in a magic ring
- Rnd2: (6aum)= 12pb - Rnd2: (6inc)= 12sc

- Rnd3: (1pb- laum)*é= 18pb - Rnd3: (1sc- linc)*6= 18sc

- Rnd4: (2pb- laum)*6= 24pb - Rnd4: (2sc- linc)*6= 24sc
- RndS5: (3pb- laum)*6= 30pb - Rnd5: (3sc- linc)*6= 30sc

- Rndé: (4pb- laum)*6= 36pb - Rndé: (4sc- linc)*6= 3ésc

- Rnd7: (5pb- laum)*é= 42pb - Rnd7: (5sc- linc)*6= 42sc

- Rnd8: (6pb- laum)*6= 48pb - Rnd8: (6sc- linc)*6= 48sc










